Problem:

Does setting a target distance for people to take one hop towards effect how fagthe people hop,

compared to if there was no target _ \, /

Hunch :

We think that a taget will make a difference to how far people, by makig them hop further then
people who werent given a target because, we think that people with a target are more motivated s /
to beat the distance 1.6m target we have set.

Plan:

We will conduct this experiment on Mrs — — yearl11 girls form class.the experiment will be two /'
independent group comparisons. The two independent groups comparison, there must be a random *
allocation to the two groups in an attempt to make the comparison fair.

We will randomly select to two groups by first cutting up the class role (students names) and putting
each individual students name into a ice cream container. One person will have their eyes shut and
will individually draw names out of the icecream container, every secon name drawn out will be put
into group 2.The othr names will be in group one.this keeps the experiment fair and not bais as we
have randomly allocated two groups.Group one will have no target but group two will have a set
target of 1.6metres.

Bring both the two groups outside the classroom and cover the entrance of the door with a person
covering the door so they are unable to see inside, well students are outside a tape measure is set
up and a start point for where the students hop from is marked.

Individually students will be called into the class from group one which is the group with no

target.They will give us their name ,we will directthem to the starting point, which is Ocm where

their tip of their right foot must touch and tell them to use their right foot to take their hop with,

they cannot take a run up.they are to hop as far as they can in one hop.Their distance will be

recorded nxt to their name.After the student has hopped they will be lead out into a separate room -
where the window will again be covered so they will not put off or communicate with other students s
who are yet to participate in this experiment.

/

Once all group one has hopped and their names are recorded, we will then out a piece of tape across
the tape measure at 1.6m as that is our target

Individually we will then call in each member of group two, show them the start of the hop line and

tell them that we want them to try hop using their right foot andjust taking one hop to try and reach  /
the target. We will tell them that they cannot run up and they must start with the tip of their right ¥
foot on Ocm.

After each student from group 2 has individually been called in told the instruction and done their
hop, we will record their results of the length they have hopped in cms next to the students
name.After the student has hopped we will take them to the backroom so they cannot see the
people who are yet to hop.we will repeat this process for all of group 2,once everyone has hopped
we will bring them out and thank them for completing our experiment
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